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Time : 03 Hours : : Maximum Marks : 60 '

Instruction to Candidates:
1) Section - A is Compulsory. ‘
2) Attempt any Four questions from Section - B.

Section - A

- 0l) - | (10 x 2 = 20)
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a) Write down any two causes of slow growth of national i income in India.

b) What do you understand by hard 1mrastructure‘7 How does it help in
economic development?

c) .Brieﬂ'y‘ discuss the adverse effects of green revolution.
d) What is the meaning of deilingy of land holdings?

e) What are the demerits of non—mstltutlonal sources of rural credlt in
India? ot

f) Whatis the need of land refprrns_ 1n our conntry‘?

2) .What is the meaning of .privatisation?

h) - What do you understand by the term population éxpjloisionf.7
") | What‘ is the problem of disguised-unemnloyment?

) Whatisthe éhange in direction of India’s foreign trade?
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Section - B :
(4 x 10 =40)

Q2) What are the measures to check interstate variations in national income in
India?

Q3) Examine Critically, to what extent the tenth ﬁve‘year plan has reduced the
- problem of unemployment in India?

04) What are the causes of low agricultural production in India?

e

os ) Evaluate Industrial growth in India under plans.

- Q@6) Whatis the extent of poverty? What measures would you suggest to solve
the problem of poverty in India?

Q7) What is the impact of WTO on industrial sector of Indian Economy?
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